Mathematica Aeterna, Vol. 5, 2015, no. 2, 285-291

# The properties of biderivations on Heisenberg superalgebras 

Hang Xu<br>School of Mathematics and Statistics<br>Northeast Normal University<br>Lu Wang<br>School of Mathematics and Statistics<br>Northeast Normal University


#### Abstract

Let H be a Heisenberg superalgebra. In this paper, the definition of biderivations and the properties of biderivations on Lie superalgebras are introduced. And some properties of biderivations on Heisenberg superalgebras are introduced by the definition of Heisenberg superalgebras.


Mathematics Subject Classification: 17B40
Keywords: Heisenberg superalgebras, Biderivations

## 1 Introduction

Recently,some researchers were interested in biderivations of Lie algebras [1] and the definition of Heisenberg superalgebras [2]. The aim of this paper is to introduce the properties of biderivations on Heisenberg superalgebras.

## 2 Preliminary Notes

Definition 2.1 Let $L=L_{\overline{0}}+L_{\overline{1}}$ be a superalgebra whose multiplication is denoted by a pointed bracket $[-,-]$. This implies in particular that $\left[L_{\alpha}, L_{\beta}\right] \subset$ $L_{\alpha+\beta}$ for all $\alpha, \beta \in \mathbb{Z}_{2}$. We call $L$ is a Lie superalgebra if the multiplication satisfies the following identities,

$$
[x, y]=-(-1)^{|x||y|}[y, x]
$$

$$
[x,[y, z]]+(-1)^{|x||y|}[y,[z, x]]+(-1)^{|y||z|}[z,[x, y]]=0
$$

for all $x \in L_{|x|}, y \in L_{|y|}, z \in L_{|z|}$ and $|x|,|y|,|z| \in \mathbb{Z}_{2}$.
Definition 2.2 Let L be a Lie algebra. A bilinear map $\varphi: L \times L \longrightarrow L$ is called a biderivation of $L$ if it is a derivation with respect to both components, meaning that

$$
\varphi([x, y], z)=[x, \varphi(y, z)]+[\varphi(x, z), y]
$$

and

$$
\varphi(x,[y, z])=[\varphi(x, y), z]+[y, \varphi(x, z)]
$$

for all $x, y, z \in L$.
Definition 2.3 Let $H$ be a Lie superalgebra. $H$ is called a Heisenberg superalgebra if $[H, H]=C(H)$ and $\operatorname{dim} C(H)=1$.

Remark 2.4 According to the definition of Heisenberg superalgebras, we have $\operatorname{dim} C(H)=1$ and $C(H)=c$, which $c \in H_{\overline{0}}$ and $c \neq 0$. Owing to $[H, H]=C(H) \subseteq H_{\overline{0}}$, there exists a grade anti-symmetic bilinear function $\psi$, s.t. $[x, y]=\psi(x, y) c$.

Definition 2.5 Let $L$ be a Lie superalgebra. A bilinear map $\varphi: L \times L \longrightarrow L$ is called a biderivation of $L$ if it is a derivation with respect to both components,meaning that

$$
\varphi([x, y], z)=[x, \varphi(y, z)]+(-1)^{d(y)(d(\varphi)+d(z))}[\varphi(x, z), y]
$$

and

$$
\varphi(x,[y, z])=[\varphi(x, y), z]+(-1)^{d(y)(d(\varphi)+d(x))}[y, \varphi(x, z)]
$$

for all $x, y, z \in L$.

## 3 Main Results

Theorem 3.1 Let $\varphi$ be a biderivation on Lie superalgebras. Then

$$
[\varphi(x, y),[u, v]]=(-1)^{(d(y)+d(u)) d(\varphi)}[[x, y], \varphi(u, v)]
$$

for all $x, y, u, v \in L$.
Proof. Since $\varphi$ is a biderivation on Lie superalgebras,then we have

$$
\varphi([x, y], z)=[x, \varphi(y, z)]+(-1)^{d(y)(d(\varphi)+d(z))}[\varphi(x, z), y]
$$

and

$$
\varphi(x,[y, z])=[\varphi(x, y), z]+(-1)^{d(y)(d(\varphi)+d(x))}[y, \varphi(x, z)]
$$

for all $x, y . z \in L$
We compute $\varphi([x, u],[y, v])$ in two different ways. On one hand, since $\varphi$ is a biderivation in the first formula. We have that

$$
\varphi([x, u],[y, v])=[x, \varphi(u,[y, v])]+(-1)^{d(u)(d(\varphi)+d(y)+d(v))}[\varphi(x,[y, v]), u]
$$

Using the fact that $\varphi$ is a biderivation in the second formula, we further have that

$$
\begin{gathered}
\varphi([x, u],[y, v])=[x,[\varphi(u, y), v]]+ \\
(-1)^{d(y)(d(\varphi)+d(u))}[x,[y, \varphi(u, v)]]+ \\
(-1)^{d(u)(d(\varphi)+d(y)+d(v))}[[\varphi(x, y), v], u]+ \\
(-1)^{d(u)(d(\varphi)+d(y)+d(v))+d(y)(d(\varphi)+d(x))}[[y, \varphi(x, v)], u] .
\end{gathered}
$$

On the other hand, computing $\varphi([x, u],[y, v])$ in a different way we have that

$$
\begin{gathered}
\varphi([x, u],[y, v])=[[x, \varphi(u, y)], v]+ \\
(-1)^{d(u)(d(\varphi)+d(y))}[[\varphi(x, y), u], v]+ \\
(-1)^{d(y)(d(\varphi)+d(x)+d(u))}[y,[x, \varphi(u, v)]]+ \\
(-1)^{d(y)(d(\varphi)+d(x)+d(u))+d(u)(d(\varphi)+d(v))}[y,[\varphi(x, v), u]] .
\end{gathered}
$$

By comparing the two equalities we have that

$$
[\varphi(x, y),[u, v]]=(-1)^{(d(y)+d(u)) d(\varphi)}[[x, y], \varphi(u, v)]
$$

for all $x, y, u, v \in L$.

Theorem 3.2 Let $C=\{\lambda c \mid \lambda \in \mathbb{C}\}$. We have $C$ is the center of $H$, there exists $[x, y] \in C$ for all $x, y \in H$ and $z=\eta[x, y], \eta \in \mathbb{C}, \exists x, y \in L$, for $z \in C$.

Proof. Let $H=H_{\overline{0}}+H_{\overline{1}}$ be a Heisenberg superalgebra.
Case $1 \operatorname{dim} H$ is odd.
Since $H=H_{\overline{0}}+H_{\overline{1}}$ and $H_{\overline{0}}$ are Heisenberg algebra whose dimension is odd, so $\operatorname{dim} H_{\overline{1}}$ is even. Then there is a group of basis $\left\{e_{1}, e_{2}, \ldots, e_{n}, f_{1}, f_{2}, \ldots, f_{n}, c\right\}$ of $H_{\overline{0}}$, analogously, the basis of $H_{\overline{1}}$ are $\left\{s_{1}, s_{2}, \ldots, s_{n}, t_{1}, t_{2}, \ldots, t_{n}\right\}$. Then the basis of $H=H_{\overline{0}}+H_{\overline{1}}$ are $\left\{e_{1}, e_{2}, \ldots, e_{n}, f_{1}, f_{2}, \ldots, f_{n}, c, s_{1}, s_{2}, \ldots, s_{n}, t_{1}, t_{2}, \ldots, t_{n}\right\}$.

Let

$$
\begin{aligned}
x & =\lambda_{1} c+\sum_{i=1}^{n} \lambda_{i+1} e_{i}+\sum_{i=1}^{n} \lambda_{i+n+1} f_{i}+\sum_{i=1}^{n} \eta_{i} s_{i}+\sum_{i=1}^{n} \eta_{i+n} t_{i} \\
y & =\xi_{1} c+\sum_{i=1}^{n} \xi_{i+1} e_{i}+\sum_{i=1}^{n} \xi_{i+n+1} f_{i}+\sum_{i=1}^{n} \zeta_{i} s_{i}+\sum_{i=1}^{n} \zeta_{i+n} t_{i}
\end{aligned}
$$

$\lambda_{i}, \eta_{i}, \xi_{i}, \zeta_{i}(i=1,2, \ldots, 2 n+1)$

$$
\begin{aligned}
& {[x, y]=} {\left[\lambda_{1} c+\sum_{i=1}^{n} \lambda_{i+1} e_{i}+\sum_{i=1}^{n} \lambda_{i+n+1} f_{i}+\sum_{i=1}^{n} \eta_{i} s_{i}+\sum_{i=1}^{n} \eta_{i+n} t_{i}\right.} \\
& \xi_{1} c+\left.\sum_{i=1}^{n} \xi_{i+1} e_{i}+\sum_{i=1}^{n} \xi_{i+n+1} f_{i}+\sum_{i=1}^{n} \zeta_{i} s_{i}+\sum_{i=1}^{n} \zeta_{i+n} t_{i}\right] \\
&=\left[\sum_{i=1}^{n} \lambda_{i+1} e_{i}, \sum_{i=1}^{n} \xi_{i+n+1} f_{i}\right]+\left[\sum_{i=1}^{n} \lambda_{i+n+1} f_{i}, \sum_{i=1}^{n} \xi_{i+1} e_{i}\right] \\
&+\left[\sum_{i=1}^{n} \eta_{i} s_{i}, \sum_{i=1}^{n} \zeta_{i+n} t_{i}\right]+\left[\sum_{i=1}^{n} \eta_{i+n} t_{i}, \sum_{i=1}^{n} \zeta_{i} s_{i}\right] \\
&= \sum_{i=1}^{n}\left(\lambda_{i+1}+\xi_{i+n+1}\right) c-\sum_{i=1}^{n}\left(\lambda_{i+n+1}+\xi_{i+1}\right) c \\
&+\sum_{i=1}^{n}\left(\eta_{i}+\zeta_{i+n}\right) c+\sum_{i=1}^{n}\left(\eta_{i+n}+\zeta_{i}\right) c=\lambda c
\end{aligned}
$$

So,we have $[x, y]=\lambda c, \lambda \in \mathbb{C}$,i.e. $[x, y] \in C$.
There exists $[x, y]=\eta_{1} c, \eta_{1} \neq 0, \exists x, y \in H$ and $z=\eta_{2} c, \exists \eta_{2} \in \mathbb{C}$ for all $z \in C$, so we have $\eta[x, y]=\eta \eta_{1} c$ and let $\eta=\frac{\eta_{2}}{\eta_{1}}$, we have $z=\eta[x, y]$.

Case $2 \operatorname{dim} H$ is even.
Since $H=H_{\overline{0}}+H_{\overline{1}}$ is a Heisenberg superalgebra whose dimension is even and $H_{\overline{0}}$ is Heisenberg algebra whose dimension is odd. So $\operatorname{dim} H_{\overline{1}}$ is odd. Then there is a group of basis $\left\{e_{1}, e_{2}, \ldots, e_{n}, f_{1}, f_{2}, \ldots, f_{n}, c\right\}$ of $H_{\overline{0}}$, analogously, the basis of $H_{\overline{1}}$ are $\left\{s_{1}, s_{2}, \ldots, s_{n}, t_{1}, t_{2}, \ldots, t_{n}, \omega\right\}$. Then the basis of $H=$ $H_{\overline{0}}+H_{\overline{1}}$ are $\left\{e_{1}, e_{2}, \ldots, e_{n}, f_{1}, f_{2}, \ldots, f_{n}, c, s_{1}, s_{2}, \ldots, s_{n}, t_{1}, t_{2}, \ldots, t_{n}, \omega\right\}$, which $\psi(\omega, \omega)=1$.

Let

$$
\begin{aligned}
x & =\lambda_{1} c+\sum_{i=1}^{n} \lambda_{i+1} e_{i}+\sum_{i=1}^{n} \lambda_{i+n+1} f_{i}+\eta_{1} \omega+\sum_{i=1}^{n} \eta_{i+1} s_{i}+\sum_{i=1}^{n} \eta_{i+n+1} t_{i} \\
y & =\xi_{1} c+\sum_{i=1}^{n} \xi_{i+1} e_{i}+\sum_{i=1}^{n} \xi_{i+n+1} f_{i}+\zeta_{1} \omega+\sum_{i=1}^{n} \zeta_{i+1} s_{i}+\sum_{i=1}^{n} \zeta_{i+n+1} t_{i}
\end{aligned}
$$

$$
\lambda_{i}, \eta_{i}, \xi_{i}, \zeta_{i}(i=1,2, \ldots, 2 n+1)
$$

$$
[x, y]=\left[\lambda_{1} c+\sum_{i=1}^{n} \lambda_{i+1} e_{i}+\sum_{i=1}^{n} \lambda_{i+n+1} f_{i}+\eta_{1} \omega+\sum_{i=1}^{n} \eta_{i+1} s_{i}+\sum_{i=1}^{n} \eta_{i+n+1} t_{i}\right.
$$

$$
\begin{gathered}
\left.\xi_{1} c+\sum_{i=1}^{n} \xi_{i+1} e_{i}+\sum_{i=1}^{n} \xi_{i+n+1} f_{i}+\zeta_{1} \omega+\sum_{i=1}^{n} \zeta_{i+1} s_{i}+\sum_{i=1}^{n} \zeta_{i+n+1} t_{i}\right] \\
=\left[\sum_{i=1}^{n} \lambda_{i+1} e_{i}, \sum_{i=1}^{n} \xi_{i+n+1} f_{i}\right]+\left[\sum_{i=1}^{n} \lambda_{i+n+1} f_{i}, \sum_{i=1}^{n} \xi_{i+1} e_{i}\right] \\
+\eta_{1} \zeta_{1}[\omega, \omega]+\left[\sum_{i=1}^{n} \eta_{i+1} s_{i}, \sum_{i=1}^{n} \zeta_{i+n+1} t_{i}\right]+\left[\sum_{i=1}^{n} \eta_{i+n+1} t_{i}, \sum_{i=1}^{n} \zeta_{i+1} s_{i}\right] \\
=\sum_{i=1}^{n}\left(\lambda_{i+1}+\xi_{i+n+1}\right) c-\sum_{i=1}^{n}\left(\lambda_{i+n+1}+\xi_{i+1}\right) c+\eta_{1} \zeta_{1}[\omega, \omega] \\
\quad+\sum_{i=1}^{n}\left(\eta_{i+1}+\zeta_{i+n+1}\right) c+\sum_{i=1}^{n}\left(\eta_{i+n+1}+\zeta_{i+1}\right) c=\lambda c
\end{gathered}
$$

So,we have $[x, y]=\lambda c, \lambda \in \mathbb{C}$, i.e., $[x, y] \in C$.
There exists $[x, y]=\eta_{1} c, \eta_{1} \neq 0, \exists x, y \in H$ and $z=\eta_{2} c, \exists \eta_{2} \in \mathbb{C}$ for all $z \in C$, so we have $\eta[x, y]=\eta \eta_{1} c$ and let $\eta=\frac{\eta_{2}}{\eta_{1}}$, we have $z=\eta[x, y]$.

Theorem 3.3 The properties of biderivations on Heisenberg superalgebras.

$$
\begin{aligned}
(1) \varphi(0, z)= & 0, \varphi(x, 0)=0, \forall x, z \in H \\
(2) \varphi(c, z)= & \lambda c, \varphi(x, c)=\eta c, \forall x, z \in H \\
& (3) \varphi(c, c)=0 \\
\text { (4) } \varphi(x, c)=- & (-1)^{d(\varphi) d(x)} \varphi(c, x), \forall x \in H .
\end{aligned}
$$

Proof. 1. According to

$$
\varphi([x, y], z)=[x, \varphi(y, z)]+(-1)^{d(y)(d(\varphi)+d(z))}[\varphi(x, z), y]
$$

and

$$
\varphi(x,[y, z])=[\varphi(x, y), z]+(-1)^{d(y)(d(\varphi)+d(x))}[y, \varphi(x, z)]
$$

for all $x, y, z \in L$.
Let $x=y=c$ in the first formula, then we have

$$
\varphi([c, c], z)=[c, \varphi(c, z)]+(-1)^{d(c)(d(\varphi)+d(z))}[\varphi(c, z), c] .
$$

Hence $\varphi(0, z)=0, \forall z \in H$.
Let $y=z=c$ in the second formula, then we have

$$
\varphi(x,[c, c])=[\varphi(x, c), c]+(-1)^{d(c)(d(\varphi)+d(x))}[c, \varphi(x, c)] .
$$

Hence $\varphi(x, 0)=0, \forall x \in H$.
2. Let $x=c$ in the first formula, then we have

$$
\varphi([c, y], z)=[c, \varphi(y, z)]+(-1)^{d(y)(d(\varphi)+d(z))}[\varphi(c, z), y] .
$$

So we have $[\varphi(c, z), y]=0$.According to Theorem 2.2 , we have $\varphi(c, z)=\lambda c \in$ $C, \forall z \in H$.

Let $y=c$ in the second formula, then we have

$$
\varphi(x,[c, z])=[\varphi(x, c), z]+(-1)^{d(c)(d(\varphi)+d(x))}[c, \varphi(x, z)] .
$$

Hence $\varphi(x, c)=\eta c \in C, \forall x \in H$.
3. Let $x=c$ in the second formula. According to Theorem 2.2, suppose that $[y, z]=\lambda_{1} c$ for all $y, z \in L$, then we have

$$
\varphi\left(c, \lambda_{1} c\right)=[\varphi(c, y), z]+(-1)^{d(y)(d(\varphi)+d(c))}[y, \varphi(c, z)] .
$$

Hence $\varphi\left(c, \lambda_{1} c\right)=0$, i.e., $\varphi(c, c)=0$.
4.Suppose that

$$
[x, y]=0,[x, z]=0,[y, z]=\lambda_{2} c, \lambda_{2} \neq 0
$$

So we have

$$
\left\{\begin{array}{l}
\varphi\left(x, \lambda_{2} c\right)=[\varphi(x, y), z]+(-1)^{d(y)(d(\varphi)+d(x))}[y, \varphi(x, z)], \\
0=[\varphi(y, x), z]+(-1)^{d(x)(d(\varphi)+d(y))}[x, \varphi(y, z)], \\
0=[\varphi(z, x), y]+(-1)^{d(x)(d(\varphi)+d(z))}[x, \varphi(z, y)], \\
0=[x, \varphi(y, z)]+(-1)^{d(y)(d(\varphi)+d(z))}[\varphi(x, z), y], \\
0=[x, \varphi(z, y)]+(-1)^{d(z)(d(\varphi)+d(y))}[\varphi(x, y), z], \\
\varphi\left(\lambda_{2} c, x\right)=[y, \varphi(z, x)]+(-1)^{d(z)(d(\varphi)+d(x))}[\varphi(y, x), z] .
\end{array}\right.
$$

Let

$$
\begin{aligned}
& {[\varphi(x, y), z]=x_{1} ;[y, \varphi(x, z)]=x_{2} ;[\varphi(y, x), z]=x_{3} ;} \\
& {[x, \varphi(y, z)]=x_{4} ;[\varphi(z, x), y]=x_{5} ;[x, \varphi(z, y)]=x_{6} .}
\end{aligned}
$$

so we have

$$
\left\{\begin{array}{l}
\varphi\left(x, \lambda_{2} c\right)=x_{1}+(-1)^{d(y)(d(\varphi)+d(x))} x_{2}, \\
0=x_{3}+(-1)^{d(x)(d(\varphi)+d(y))} x_{4}, \\
0=x_{5}+(-1)^{d(x)(d(\varphi)+d(z))} x_{6}, \\
0=x_{4}-(-1)^{d(x) d(y)} x_{2}, \\
0=x_{6}+(-1)^{d(z)(d(\varphi)+d(y))} x_{1}, \\
\varphi\left(\lambda_{2} c, x\right)=-(-1)^{d(y)(d(\varphi)+d(z)+d(x))} x_{5}+(-1)^{d(z)(d(\varphi)+d(x))} x_{3} .
\end{array}\right.
$$

Hence,

$$
\varphi(x, c)=-(-1)^{d(\varphi) d(x)} \varphi(c, x), \forall x \in H
$$

## ACKNOWLEDGEMENTS.

We would like to express our gratitude to all those who have helped us in the period of our thesis writing. Show our sincerely gratitude to our Professor Liangyue Chen. We do appreciate his patience,encouragement, and professional instructions in the period of our thesis writing.

## References

[1] D. Wang,X. Yu,Z. Chen,Biderivation of the parabolic subalgebras of simple Lie algebras,Comm Algebra,39(2011),no.11,4097-4104.
[2] L.Wang,D.Meng,Some Complete Lie Superalgebras[J],Linear Algebra Its Appl,369(2003),no.1,339-349.

Received: April, 2015

